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M: How about the food I ordered? I’ve been waiting for twenty minutes already.
W: Very sorry, sir. I'll be back with your order in a minute.
Q: What’s the woman’s job?
A. A shop assistant. B. A telephone operator.
C. A waitress. D. A clerk.
AKE.C, ATHBEREREFITFNIXIZFASAZR G X ZIRF, A3 P order (.
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W: Here’s a ten-dollar bill. Give me two tickets for tonight’s show, please.
M. Sure. Two tickets and here’s a dollar and forty cents change.
Q: How much does one ticket cost?
A. $1.40. B. $4.30. C. $6.40. D. $8.60.
ZE:B, AT EFERGETATRMNARAST R HHAERR, AIZHHNGEZX 5 ®EE
B PO e e iR T 10,2 tickets LA A AR, N ERAFH L, RE
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W: How often did you write to your parents?
M: I used to write to my parents once a week.
Q: What do you understand from the man’s answer?

A. He enjoys writing to his parents every week.
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B. He never fails to write a weekly letter to his father and mother.

C. He doesn’t write to his parents once a week now.

D. He has been asked to write to his parents every week.
A%: Co used to AL LI B AAERFAE. i EH TR o id &L LA LFE
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M: Have you read today’s paper yet?
W Of course. The First Lady went to the orphanage to see the poor children. There is a
picture of that. Look, she is very beautiful.
Q: What do you understand from the conversation?
A. The beautiful lady is reading the newspaper.
B. The President has several wives.
C. The lady is the first one to meet the poor children.
D. The President’s wife visited the orphans.
K% D, EHMEZAY il First Lady — F —XAZSFEFBEARM K XANG T
A, 3R 5 A RS
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W: Slow down. You are passing every car on the road.
M: Most drivers usually ignore the speed limit unless they think the police will stop them.
Q: What does the man mean?
A. Few people drive within the speed limit.
B. Drivers usually obey traffic rules.
C. The speed limit is really reasonable.
D. The police stop most drivers for speeding.
ZE. A, FEPEFHHYou are passing every car’BA W EE L2 EF KRk, FFX
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It is often difficult these days to find someone to come and fix your television set, or
your washing machine, or any other household appliance if it breaks. Everybody wants to
sell you new products, but nobody wants to fix them when they stop working.

One day, Mrs. Harris discovered that her bathroom faucet was leaking, so she phoned
her plumber. Three days later, he arrived.

“Well, you’ve finally arrived!” she said to the plumber. “I called you three days ago.”

The plumber was not at all disturbed by this. He simply took a piece of paper out of his
pocket and looked at it. “Three days ago?” he said. “That was 21st, wasn’t it? Well, I'm
sorry, but I've come to the wrong place. I was looking for Mrs. Smith’s house, not yours.
She phoned me on the 20th.”

1. When did Mrs. Harris phone the plumber?

A. On the 20th. B. On the 24th.

C. On the 21st. D. On the 22nd.

B Co MEEF AN N e, F & o3 L 075 32 69 B 18 AR+ o 9 A 0
AR AR 3 7] R

2. What would the plumber do next?

A. Find Mrs. Smith’s house. B. Fix Mrs. Harris’s bathroom faucet.

C. Return to his company. D. Make a phone call.

BEA, WAL EFANSERIFTREGRMED,

3. What can you infer from the passage?

A. Mrs. Smith and Mrs. Harris are neighbours.

B. The household appliance is usually of low quality in the West.

C. Plumbers in the West are very busy people.

D. Everybody wants to send you new goods without calling.

ZE.C, WMEEFEEA Bl LTy A EERE M L4 MHFAH ok
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W: Hi, Bruce, it’s Naomi.

M. Hi, Naomi.
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W: I'm calling about the conference in Shanghai on November 8th. We have to make some
changes.

M: OK, go ahead.

W: I don’t think the Pecace Guardian will be big enough. We need a center that can seat at
least 600 people.

M: That many? Any suggestions?

W: The Palace Center will be free that day, but it will mean increasing the registration fee
by $50. From $ 800 to $ 850.

M: That won’t be a problem. Anything else?

W Milan University says they are sending Cara Marasco instead of Professor Bertoni. But the
talk would be the same, Opportunities and Risks in the African Market .

M: Fine. Make those changes and I'll inform everyone at my end.
1. Where will the conference take place in Shanghai on November 8th?
A. The Palace Center. B. The Peace Guardian.
C. The African Market. D. Milan University.

BEA, HEPRASANL, R ERRL P XA,

TER RO IR BR 1 75 20 2071 N A B 2 U 2o K 56 75 2 ) T 0 B Y R R R 4 RE
2. What are they talking about?
A. Opportunities and risks in the African market.
B. Professor Bertoni’s talk.
C. The increasing registration fee.
D. Necessary changes about the meeting.

Z2%.D, # CHRAFELFLAATEFPHEHIANBRT 2B EH A LRIANAFL, {2
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Directions: In Section A, you will hear ten short conversations between two speakers. At

Section A

the end of each conversation, a question will be asked about what was said. The
conversations and the questions will be spoken only once. A fter you hear a conversation

and the question about it, read the four possible answers on your paper and decide

which one is the best answer to the question you have heard.

. He is a plumber.

. He is a gas-man.

. Yes, he visited the museum.
. No, he stayed at home.

. Hearing an international report.

O WO wgow

. Looking at a newspaper.
. The interview is the first in his life.

. The interview has changed their life.
. The interview is not very interesting.
. Coffee with sugar and milk.

. Tea with sugar and milk.

. Coffee without sugar and milk.

. Tea with milk.

. Near their town.

On the north of their town.

. Taking a holiday.

. Checking out.

. Go downstairs with the woman.

O @O wOWw

. Find what was in the box.
. He is reading a book.
He is working on a computer.

. He is programming.

UO_UJ'}O&DO'}O:}UOUJ:}UOUU&O&(?&DO&

. He is repairing a computer.
() 10. A. She will do nothing.

B. She will wash the car.

C. She will tidy up the rooms.

. The interview is very important to them.

. He is a gardener.

. He is a teacher.

. No, he didn’t visit the musecum.
. No, he went to the school.

. Shopping at a bookstore.

. Going swimming.

. Far from their town.

. On the west of their town.

. Making a reservation.

. Going fishing.

. Help her take the box.

. Complain about the heavy box.

D. She will wash the car and tidy up the rooms.



%:am%

EENRE SN

Section B

Directions: In Section B, you will hear two passages and one longer conversation, and
you will be asked several questions on each of the passages and the conversation. The
passages and the conversation will be read twice, but the questions will be spoken only

once. When you hear a question, read the four possible answers on your paper and

decide which one is the best answer to the question you have heard.

Questions 11 through 13 are based on the following passage.

¢ ) 11. A. Athletic. B. Confident. C. Enthusiastic. D. Selfish.
() 12. A. To enjoy himself. B. To keep awake.

C. To get rid of stress. D. To play a joke.
() 13. A. Continue it. B. Change it.

C. Drop it. D. Get rid of it.

Questions 14 through 16 are based on the following passage.
() 14. A. He had forgotten to put on his watch.
B. His watch doesn’t work.
. He wanted to reset his watch.
. He wanted to sell his watch.
. He disliked Henry.
. He didn’t have a watch.
. He didn’t want to speak to Henry.
. He was too busy.

>0 A®>» 00

¢ ) 16. A. Spring. B. Winter. C. Summer. D. Autumn.

Questions 17 through 20 are based on the following conversation.
¢ ) 17. A. 10. B. 18. C. 8. D. 20.
() 18. A. Sleeping and watching TV.
C. Cooking and watching TV.
() 19. A. Choose whatever places you like.

. Cooking and showering.

. Sleeping and surfing the Internet.
. In the bus.

C. A place in London. . Not mentioned.
() 20. A. Next Wednesday.

C. 68 hours before travel.

. Eight months before travel.

O WO wWOw®

. Six or eight months before travel.
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Section A

Directions: In Section A, you will hear ten short conversations between two speakers. At
the end of each conversation, a question will be asked about what was said. The
conversations and the questions will be spoken only once. A fter you hear a conversation
and the question about it, read the four possible answers on your paper and decide

which one is the best answer to the question you have heard.

. Fifteen. B. Twenty-one.
. Thirty-five. D. Twenty-five.
. He often walks a long way to watch tennis match.

. Tennis is his favorite sport.

He doesn’t like tennis sport.

. Tennis is one of his favorite sports.
. She has little work experience. . She often changes her job.
. She seldom changes her job. . She doesn’t like any work.
. 2 weeks. B. 4 weeks. . 8 weeks. D. 16 weeks.
. He doesn’t like Korean food. . He wants to pay.
. He doesn’t feel hungry at all. . He will treat his patient.

. He’s a singer. . He sells recorders.

OwWQoOwOow

. He repairs recorders. . He is one of their classmates.
. The man is not hungry.

The man forgot the lunchtime.

. The man has to finish the work first.

. He is having a meeting.

. He doesn’t want to buy a new car at all.

He doesn’t have enough money for a new car.

. He plans to buy a new car soon.

. He will buy a new car by any means.

. Nurse and patient. B. Dentist and patient.

. Parent and child. D. Teacher and student.

OPUO0®P>00F>P0OP0F>0>00% >0 »

() 10. A. The man was with his aunt last week.
B. The man took a business trip to Sydney last week.
C. The man and his aunt went to Sydney last week.

D. The man was on a business trip.

10
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Section B

Directions: In Section B, you will hear two passages and one longer conversation, and
you will be asked several questions on each of the passages and the conversation. The
passages and the conversation will be read twice, but the questions will be spoken only

once. When you hear a question, read the four possible answers on your paper and

decide which one is the best answer to the question you have heard.

Questions 11 through 13 are based on the following passage.
() 11. A. To smile and keep eyes open.
B. To explain again and again.
. To tell those people what she wants.
. To take pictures for others.
. The person who has the product.
. The man from the ad company.
. The speaker’s friends or relatives.
. People from the photograph studio.
. With pounds of make-up. B. In strange clothes.

A>00®W> 0N

. With one’s mouth open. D. Natural.

Questions 14 through 16 are based on the following passage.

() 14. A. In Canada. B. In China. C. In Italy. D. In Britain.
() 15. A. The mountains. B. The drive to the mountains.

C. The food. D. The skiing clothes.
() 16. A. The children. B. His friends.

C. The author. D. The nurses.

Questions 17 through 20 are based on the following conversation.
() 17. A. He is being interviewed on a television program.

. He is watching television.

. He is giving lessons.

. He is talking to the audience.

. It is very good. B. It is not good.

. It is only interesting. D. It is not objective.
. The teachers need further training.

. The teachers are doing a good job.

. Some of the teachers are doing a hard job.

. New teachers should be employed.

() 20. A. To find better teachers.

. To reduce students’ homework.

. To forbid students to watch television.

o
TO0OW>UO®>OP>TO®E >

. To improve teachers’ working conditions.

11
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Section A

Directions: In Section A, you will hear ten short conversations between two speakers. At
the end of each conversation, a question will be asked about what was said. The
conversations and the questions will be spoken only once. A fter you hear a conversation
and the question about it, read the four possible answers on your paper and decide

which one is the best answer to the question you have heard.

() 1. A. Monday. B. Tuesday. C. Thursday. D. Friday.
() 2. A. They are in the same class. B. They don’t know each other.
C. They are both students. D. They are both teachers.
C ) 3.A. $47. B. $51. C. $49. D. $53.
() 4. A. The new one. B. The prettier one.
C. The cotton one. D. The feather one.
() 5. A. The man agrees with the woman.
B. The man is in good health.
C. The man seldom has pleasant dreams.
D. The man is in poor health.
() 6. A. Fine, a strong wind from northeast, eleven below zero.
B. Fine, a strong wind from northwest, eleven below zero.
C. Fine, a strong wind from northwest, eleven above zero.
D. Fine, a strong wind from southwest, eleven above zero.
() 7. A. He has forgotten his magazine.
B. He has the magazine back already.
C. He doesn’t want to get the magazine back.
D. He dislikes the magazine.
() 8. A. The woman doesn’t call home very often.
B. The man doesn’t call home very often.
C. Neither of them calls home very often.
D. Both of them call home very often.
C ) 9. A. She is a housewife. B. She is an art teacher.
C. She is a gardener. D. She is an artist.

() 10. A. A middle-aged man, with short brown hair.
B. A middle-aged man, with long black hair.
C. A middle-aged man, with long brown hair.
D. A middle-aged man, with short black hair.

12



